MIPS Homework. Due Mon. Jan 9, 2012

1- Translate the following statement to MIPS: W = X + Y - Z – 10. You must assume the followings: X → s1, Y → s2, Z → s3, and W → s4.

2- Translate: C = B + A[10]; A[11] = B + 2; to MIPS. You must assume that: C → s1; B → s2; and Base address of A → s3.
3- Represent the following instructions in binary then in hexadecimal:

a) add 
$s2, $t4, $s0

b) lw 

$s7, 64($s3)
4- Translate: if (A == B) X = C + D; else X = C - 10; to MIPs. You must assume that: C → s1; D → s2; A → s3; B → s4; and X → s0.
